3apava 1

3a paccmoTpeHue crnyyas HeyeTHoro m - 1 6ann

Odd m considered only 1 point

"9 is coefficient in monomial x{2k}, where x"k is a monomial in the initial

3afada 2 [nokasas, YTo cTeneHb npu koad 9 - yaBoeHHoe ucxoaHom creneHun: 2 6anna [polynomial” 2 points
CBegaeHue 3agaym K npobrieme nokanbHOM NepecTponky LUMKIoB unu nyten - |Reduction of the problem to the local restructuring of cycles or paths -- 2
3apava 3 (2 6anna points
3apava 4 |JokasatenbcTso Toro, 4to P(ABC) < P(ADE) He oueHnBaeTcs Answer costs 0 points
B 0603Ha4eHusx pelleHns nocTpoeHa Tovka F n ckasaHo, 4To
P(CDF)=P(ADE) -- 1 6ann Inequality P(ABC) < P(ADE) is proven 0 points
B gononHeHue k npegplayliemy cchopmynmpoBaHa fieMma u3 pelueHust -- +1
6ann Point F is constructed and the equality P(CDF)=P(ADE) declared 1 point
Tonbko oTBeT - 0 6annos The previous item plus Lemma from the official solution is declared +1point
3agava 5 |3a HaxoxaeHue b2 u/vnu ab 1 unn 2 6anna b2 and/or ab is constructed 1 or 2 points
ncnonb3yeTcs BeplunHa napabonebl 6e3 ee nocTpoeHus - He 6onee 3 6annos|The vertex of parabola is used but not constructed -- at most 3 points
The vertex of parabola is constructed without further progress -- at most 3
MocTpoeHa BeplwmnHa napabonbl 2 6anna points
nponyLLeH BbIpOXAEHHbIV crnyyan (Hanpumep a=0) -1 6ann Degenerate case is missed (like a=0 etc) -1 point
PL npogomkeHa go nepecevennsi ¢ BC 1 AsBHO oTMeyveHa Touka
3apgava 6 [nepecevenus - 1 6ann The intersection point of PL and BC is marked -- 1 point
All possible numbers are found and the answer is correctly calculated -- 1
3apava 7 |HanpeHa Bcsi cepusi OTBETOB M BEPHO MOACYMTAHO KONMYECTBO -- 1 6ann point




